QUESTIONS & ANSWERS

Hitachi

HHO-110

Hitachi Data Systems Storage Foundations - Enterprise

http://killexams.com/exam-detail/HHO0-110




B. same capacity
C. less capacity
D. 21 GB of capacity

Answer: B

QUESTION: 106
You have an 1/0O bottleneck somewhere between servers and storage. Which unique benefit does
Hitachi Tuning Manager provide to help solve the problem?

A. It automatically generates reports.

B. It automatically isolates SAN 1/O from total 1/O.

C. It provides the ability to differentiate internal storage 1/0 information from the total 1/0.
D. It provides the ability to provision unused free memory from the array.

Answer: C

QUESTION: 107
You want to create a login message for the Hitachi Storage Navigator login window on a VSP.
Which permission level is required to perform this task?

A. security administrator modify
B. login administrator modify
C. storage administrator modify
D. user administrator modify

Answer: A

QUESTION: 108
A customer is using Hitachi Universal Replicator as a disaster recovery solution. The replication
traffic is increasing, requiring more journal capacity. How can the journal capacity be increased?

A. Suspend the pairs and add Open-V LDEVs to the Journal Group.
B. Suspend the pairs and add 3390-3 LDEVs to the Journal Group.
C. Dynamically add 3390-3 LDEVs to the Journal Group.
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D. Dynamically add Open V LDEVs to the Journal Group.

Answer: D

QUESTION: 109

A customer has migrated some basic LDEVs to DP-Vols from a new DP Pool. After discarding
zero data, these V-Vols finally appear to only use 50% of the DP Pool pages. With a VSP, what
could be done to improve the page usage rate of this DP Pool?

A. Use Storage Navigator for VSP to perform a zero page reclaim on the V-Vols.
B. Use Storage Navigator for VSP to shrink the DP pool.

C. Use Hitachi Device Manager to disassociate the V-Vols from the DP Pool.

D. Use Hitachi Device Manager to shrink the Pool VVolumes.

Answer: B

QUESTION: 110

A customer has prepared TrueCopy scripts and now wants to create the first replication pairs in
an Open Systems environment. Which two steps must be completed before issuing TrueCopy
commands? (Choose two.)

A. Configure HORCM files.

B. Install RAID Manager CCI.

C. Ensure that the S Vols are visible to a host.
D. Configure external ports.

Answer: A, B

QUESTION: 111
A customer is implementing a Hitachi High Performance NAS solution. Which three protocols
can be used to make the data available to the clients? (Choose three.)

A.NFS
B. CIFS
C.HTTP
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D. FCoE
E.FTP

Answer: A, B, E

QUESTION: 112

An application running on a host having mulitple paths to a VSP storage system is generating
sequential and random 1/0. How should you configure load balancing within Hitachi Dynamic
Link Manager on that host?

A. Set Extended Least Blocks algorithm.
B. Set Extended Failover algorithm.

C. Disable load balancing.

D. Set Round Robin algorithm.

Answer: A

QUESTION: 113

A customer is advised by an Independent Software Vendor (ISV) to look at the Hitachi Content
Platform (HCP) as a recommended archiving solution. Which two key HCP features will benefit
the customer? (Choose two.)

A. retention capability

B. ability to update data

C. scalability

D. unrestricted removal of unused data

Answer: A, C

QUESTION: 114
What is a primary component of Hitachi Virtual Partition Manager?

A. Port Logical Partition
B. Disk Logical Partition
C. Cache Logical Partition
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D. Cache Physical Partition

Answer: C

QUESTION: 115
Which three VSP SIM errors could be reported by Storage Navigator using e mail or SNMP
traps? (Choose three.)

A. license key issues

B. pool blockade

C. DP-Vol usage threshold exceeded
D. SVP configuration mismatch

E. RMI time out exceeded

Answer: A, B, C

QUESTION: 116

A company is using Hitachi Tiered Storage Manager to manage multiple storage systems
configured as external storage to a VSP. Which two benefits does Hitachi Tiered Storage
Manager provide? (Choose two.)

A. It automatically populates storage tiers using Hitachi Device Manager profiles.

B. It provides non disruptive, completely transparent data migration.

C. It has the ability to migrate to LDEVs that are larger than the source.

D. It interfaces with Hitachi Device Manager to create storage tiers based on CIM profiles.

Answer: B, C

QUESTION: 117
What is the minimum number of disks supported on a VSP?
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Answer: A

QUESTION: 118
Which two operations are available with Storage Navigator for VSP? (Choose two.)

A. Display the LUN mount point on the server side.

B. Run Storage Navigator Modular 2 for externally attached AMS2000.
C. Give a specific name to Logical Devices (LDEVS).

D. Activate the encryption feature with no hardware add on.

Answer: C, D
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